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PAPER-2
Physics

Q.1t0Q. 50

Chemistry : Q.51 to Q. 100

Biology Q. 101 to Q. 150
PHYSICS / Wifaehees
001. An 1800 W toaster, a 1.3KW electric | 001. T&% 1800 W <Rl ?ﬁ'{%‘{, Teh 1.3KW
fan and a 100W lamp are plugged in Al 1%@?[ qEl d Tk 100W kT &cd
the same 120V circuit i.e. all the three H 120V & Th g giuy H e
devices are in parallel. What is the S Ayt 3 wft A ghe
approximate value of the total current g %u §| ufuy A o arfEd
(i.e. sum of the current drawn by the T (ag;ﬁa- & ﬂﬁ'h‘éiﬁ O o W
three devices) through circuit ? a1 TNT) BT HH SR @Y
(A) 18A (B) 27A
(C) 40A (D) 120A (A) 18A (B) 274
(C) 40A (D) 120A
002. Eour very long current carrying wires 002 TR § qw wE & o § 8
in the same plane intersect to form a T S
square 40.0cm on each side as shown o Th a;:%m 42%111%5 )
in the figure. What is the magnitude g P i =L gl %
of current I so that the magnetic field W gEeh & YA Bk fau em
at the centre of the square is zero? I % 9RAT fehaAT BFT =fEE?
104 ¥ 1045 il
A ) A Y 84
>S4 >3
(A) 2A (B) 18A (A) 2A (B) 18A
(C) 22A (D) 38A (C) 22A (D) 38A
2-BB | [2] [ Contd...



003. If the current in the toroidal solenoid | 003. U ZRISSIAT UHATGTR # €W Tk
increases uniformly from zero to 6.0A 1v'l'EI'I:T w9 H ¥ 6.0A T 3.0us
in 3.0us. Self inductance of the toroidal Fedl gl % aieATfeTeRT T
solenoid is 40uH. The magnitude of self W A0uH 8] & Uit foga amesh
induced emf is S 1 RE @
(A) 24V (B) 48V (A) 24V (B) 48V
(C) 80V (D) 160V (©) 80V (D) 160V
004. An electron is at ground state of the | 004. Tsh H TIHI] ED ‘:L? TR H TH geARH
H atom. Minimum energy required to %l H WA A ST
excite the H atom into second excited T 3Iafd =4 & fou ?fl?l'q forat
state 1s FHAl hl STEhdT BT 7
(A) 10.2¢eV (B) 3.4eV (A) 10.2¢V (B) 3.4eV
(C) 13.6eV (D) 12.1eV (C) 13.6eV (D) 12.1eV
005. A particle enters uniform constant | 005. T U Th AN Freehld g1 o
magnetic field region with its initial W’q it fgum & 34':[&'{5[ IREs
velocity parallel to the field direction. T 9 YA K 3l 3Hh 9 &k &R
Which of the following statements T el S99 9 gﬁm? (319 &
about its velocity is correct? (neglect % UWEl H WY HI)
the effects of other fields) (A) ae uimmr # gReEds g
(A) There is change only in magnitude
(B) There is change only in direction (B) Hawt foom # dfwdd &
(C) There is change in both magnitude (C) uiwmmr g faem gl # wftads &mm
and direction (D) 13 Uiadd =& g
(D) There is no change
006. Magnetic susceptibility of diamagnetic 006. m gere e EEThi W &
materials is of the order of (SI units) ®ife (SI 53?*—'% q) = 5
(A) +103 (B) —10-3 (A) +10° (B) ~107" ,
(©) +105 (D) +10~% to +102 (C) +10 (D) +107* to +10~
007. Magnitude of binding energy of satellite 007. Feelse ﬁ,\ e W’fc & g E
is E and kinetic energy is K. The ratio 7 qu1 SHh A HA FOAA K @
E/K is dl Sia E/K B
A) 1 (B) 1/2 A) 1 (B) 1/2
(C) 2/1 (D) 1/4 (©) 21 (D) 1/4
008. Figure shows the total acceleration | 008. T O =91 R=1m & Exl | EF&TUTIHFF
a=32m/s? of a moving particle moving Eﬂqﬁ B HU H HA A ag= 32m/s2
clockwise in a circle of radius R=lm. 2@ B HT ARG RO g B
What are the centrlpetal accglerat}on and # = v U MU e W owEnm g e
speed v of the particle at given instant? =
/"—~_. // Dy
K ARy / A0\
600l oy 1
1 \ I ¢ |
I ¢ | \ C a ,
\ C a , \ /
\\ / AN X4
N - // S o _—
L - 2
(A) 16m/s2, 16m/s (A) 16m/s2, 16m/s
(B) 16m/s2, 4m/s (B) 16m/s=, 4m/s
(C) 16\/§m/52, 4\/§m/s ©) 16/§nﬂs2, 4/§m/s
(D) 163 m/s2, 4m/s (D) 163 m/s2, 4m/s
2-BB ] [3] [ PTO



009. A force F=75N is applied on a block | 009. Ush & F=75N B3] Skg GoIHH £
of mass Skg along the fixed smooth sleh U ﬁ:ﬁr@yﬂ for ey 99 99
incline as shown in figure. Here * 313&{5[ R ST @l FEl Tocd
gravitational ‘acceleration g ='10m/sz. U g = 10m/s?> 8| Ak I ool Hull
The acceleration of the block is

5Kg F 5Kg F

30° 30°
(A) 5% downwards the incline (A) 5 % I9 d9d % 313'%31 =5 & 3x
(B) 57 upwards the incline m s £ IR

s (B) 5-7 9d dd 313&-‘2 S

C) 105 downwards the incline ’
(©) 10°z downw (C) 102 70 aa1 & efew Hw H 3R
D) 102 upwards the incline ,
( s P (D) 10" 90 T@1 % SFFfew W H AR

010. A 3kg object has initial velocity | 010. Th 3kg I a&q 1 FRENH o
(6i — 2j)m/s. The total work done on §6’;_ 2[;”1//5 §| Hﬁ%aﬁ I

: [P : 8i + 4j)m/s SIGI ddl deh o]
the object if its velocity changes to & U
(8 + 4j)m/s is ™ T g P EA
(C) 216J (D) 44] (C) 216J (D) 44)

011. A heat engine absorbs 360J of energy | 011. T FSAT 9 YAk <sh H 360J FHSHT
by heat and performs 25J of work in hl C’HEIT?'ﬁErUT HAT 7 qAT 25] EFI'ﬁ
each cycle. The energy expelled to the T Tk U R gl YA =@ b
cold reservoir in each cycle is 3< B A Tl'st ol gy
(A) 360J (B) 385J (A) 360J (B) 385J
(C) 33sJ (D) 14.4) (C) 335J (D) 14.4)

012. Three nonconducting large parallel plates | 012. %FEITEIHT{ T s aE FHRR Wi
have surface charge densities 6,~2c and * I8 AEY Tdcd HHS: 6,~20 qAl
40 respectively as showp in ﬁgure. The 46 B ]%@ P W ]%'—%F[ SERRS
electric field at the point P is

6 26 4o c -26 4o
P . P
3o 3o 3o 3o
(A) 28 (B) € (A) 2¢ (B) €
S c o c
© 2 (D) A= © 2 (D) A2
2-BB | [4] [ Contd...



013. A battery of constant voltage is
available. How to adjust a system of
three identical capacitors to get high
electrostatic energy with the given
battery
(A) Two parallel and one in series
(B) Three in series
(C) Three in parallel
(D) Whatever may be combination, it

will always have same electrostatic
energy

014. Five resistances are connected as shown
in the figure. The equivalent resistance
between points A and C is

6Q)
40
C
A
86 120
(A) 2120 (B) 30Q
(C) 440 ® Fo

015. The frequencies of X rays, Gamma rays
and visible light waves rays are a, b
and c¢ respectively, then
(A) a>b>c (B) a>b, b<c
(C) a<b, b>c (D) a<b, b<c

016. An equiconvex (biconvex) lens has
focus length f. It is cut into three parts
as shown in the figure. What is the
focal length of Cut part I ?

013.

014.

015.

016.

Tsh IR dlcedl i Sl Ty B

T ThEEE @arfen % el @ 3=

for faga Safaret fafa ww 6 &

T 3= ¥ "Aifa & =t

(A) T TR A W 9 UH FUN hH
T GAH

(B) @l gvft A

(C) o TuT=’ A #

(D) forelt oft g &1 T & fer
foga ot g wwW EER

g gy e g 2 A
du foag C % uwgwqﬁﬁfg

60
40
c
A
5 120
(A) 212Q  (B) 30Q
(C) 440 ® 2o

(A) a>b>c (B) a>b, b<c
(C) a<b, b>c (D) a<b, b<c

Th TH IqA o (IWATSA) I HIhH
%%lmﬁawaﬁqwhﬁ

fopam ST 7 @1 1@ MU oM
[ & BihE TrETS @& BAN?

2 2
, 1/ i I 4 m
/ \/
(A) % B) 2f (A) % (B) 2f
© 3 ©) © 3 o &
2-BB | [5] [ PTO



017.

018.

019.

A cell has terminal voltage 2V in open
circuit and internal resistance of the
given cell is 2Q. If 4A of current is
flowing between points P and Q in the
circuit and then the potential difference

between P and Q is

2V, 20
||
P WWA Q
4A 1! 40
(A) 30V (B) 26V
(C) 22V (D) 24V

A Proton and an alpha particle both are
accelerated through the same potential
difference. The ratio of corresponding

de-Broglie wavelengths is
(A) 2 (B) V2
1
2y2 D) —=
© 22  © 55

Two balls of mass m and 4m are
connected by a rod of length L. The
mass of the rod is small and can be
treated as zero. The size of the balls can
also can be neglected. We also assume
the centre of the rod is hinged, but the
rod can rotate about its centre in the
vertical plane without friction. What is
the gravity induced angular acceleration
of the rod when the angle between the
rod and the vertical line is 6 as shown.

(A) S—Lsine (B) 3—Lsin6
5
(C) 2y sind (D) Lcosd

017.

018.

019.

gd qiOy o TH HA hl RROH
dqeedl 2V g du1 feu U @A @
Al gl 2Q B | I 4A Fi
g/ fagati P qam Q % #ew Uiy #
98 W g fomgafi P qum Q % A
e @

2V, 20
||
P ~“WWA Q
4A 1! 40
(A) 30V (B) 26V
(C) 22V (D) 24V

TH TH T TH AeHl HU I Bl
gae fovarr g cafid TR S
2 IAh W & Sl queHE] Wi

SR
A) 2 (B) v2

i
€) 2/2 ® 575
q e R gemEE m dem 4m #
SThl L R TE hl B g SISl STl
B BT H MW TG B A Ia
#1 AR off T 2| 7w oag ot umd

(A) %sine (B) %sin@
©) %sin@ (D) écos@

2-BB ]
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020. A projectile is projected with an initial | 020. U Y& I IS AT (4§ + 57)
velocity (4i 4+ 57)m/s. Here j is the m/s % Y gafUq fram Smar B FEr
unit vector directed vertically upwards j 3‘_5'3; gfew FEEN FW hH AR 3
and unit vector { is in the horizontal qa ; sors dfew faw fesm # ORI
direction .Velocity of the projectile (in ya hl THE W TER ° 3 t@
m/s) just before it hits the ground is 3ot o (H. /@) g
(A) 4i+5  (B) —4i+5 (A) 4i+5)  (B) —4i+5
(C) 4i—5 (D) —4i—5] ©) 4=y (D) —4i-Y

021. What is the approximate percentage | 021. U THA lih o AGdbIA o AT
error in the measurement of time period T oy gfaerd gf’é' IEXEil ‘&ﬁ"ﬁ Elﬁ
of a simple pendulum if maximum TS [ qT TecdE a0 g WA H
errors in the measurement of length / aferspam Ffe A 3% dA 7% B
and gravitational acceleration g are 3% (A) 2 %
and 7% respectively ? B) 3 %
(A) 2 % B) 3 % ©) 5 %
©€) 5 % (D) 10 % (D) 10 %

022. A gas undergoes the cyclic process | 022. U TH Uh =hd ThH T |%|5||§FIII
shown in figure .The cycle is repeated ATET HLdl 2 1 3@ =% W U
100 times per minute. The power e 100 SR gRE & ST 7 |
generated is 39— Wk B
P P

(N/m?) (N/m?)
A A
30 F 30 F
20 T 20 [
10 F c € B 10 F C < B
1 1 \% 1 1 \V4
0 2 4 6 8 (m’) 0 2 4 6 8 (m’)

(A) 60W (B) 120W (A) 60W (B) 120W
(C) 240W (D) 100W (C) 240W (D) 100W

2-BB | [7] [ PTO



023.

024.

025.

Three charges lie on the frictionless
horizontal surface at the vertices of
equilateral triangle as shown in figure.
Two charges X and Y are fixed whereas
third charge Z is released. Which path

will charge Z take upon release ?

Path-III k /_, Path-IV

\Path -1
Path-1I

X Y

(A) Path — 1 (B) Path — II

(C) Path — Il (D) Path — IV

There are two waves having wavelengths
100cm and 10lcm and same velocity
303m/s. The beat frequency is

(A) 3Hz (B) 2Hz

(C) 4Hz (D) 1Hz

Two polaroids A and B are placed with
their polaroid axes 30° to each other as
shown in the figure. A plane polarized
light passes through the polaroid A and
after passing through it, intensity of
light becomes I,.What is the intensity
of finally transmitted light after passing

through the polaroid B ?

A B
(A) 0.251, (B) 0.5,
(C) 0.751, (D) 0.8661,

023.

024.

025.

T Ay Th TNURfEd &fas wdE W

TH TSR GBS % SN W REEER
3 TH ¥ @ HA@YW X qd Y Seed
(fixed) & o1 d&Q e Z T foam
SR A U B % I SAEY Z
SRI &1 99 (path) STUERT Sr@T 87

Path-III \ 2 Path-IV

\Path -1
Path-11

X Y
(Ay 9 -1  (B) 99 - 1I
(C) 9 — I (D) 99 - IV

a q@ SRt ameed  100em @9
10lcm & 91 EHE 97 303m/s 2l

fowig smafa arft
(A) 3Hz (B) 2Hz
(C) 4Hz (D) 1Hz

3 UIeNise (Y9) A 991 B Th g
¥ FEER 3w YR Wi At 7 R
IThl dICRisE FF o WET HIU 30°
% Uioligs A § O % U HEdd
gfoa wemr f diear [, & S @
UIeRisE B ¥ ToRd W 9ATd IAfaH &9
T qITia WeRtyr R digar e gef e

A B
(A) 0.251, (B) 0.51,
(C) 0.751, (D) 0.8661,

2-BB ]
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026. Laser light has following property 026. SR YHE = U @@ 7
(A) laser light is white light (A) 9IS YT 4d AT B
(B) laser light is highly coherent (B) AT ThE FAH heAErag el o
(C) laser light always lies in X-rays (C) TSR ThIT gHRM T FoRtor &
region RG]
(D) laser light does not have directionality (D) TN gEW H e o &
property Al 7
027. A particle is moving in translatory | (27, Th HU TAE A R @ R |
motion. If momentur'n qf the partic‘le afe wU H HIT 10% Hear ¥l
decreases by 10%, kinetic energy will oS frs wal waf
decrease by
(A) 20% (B) 19% (A) 20% (B) 19%
(C) 10% (D) 5% (C) 10% (D) 5%
028. Which of the statement is incorrect | 028, ETERUI(TA) FaHEM % §R H SFEl
about the simple microscope? FYT T B ?
(A) Magmﬁcanon qf microscope 1s (A) q\&ﬂasﬁ w1 amada Bag (zag)
inversely proportional to the least
distance of distinct vision. ?"-rﬁz w ORI K SICRHTTA
(B) A convex lens of microscope with Bl B
shorter focal length yields higher (B) qewesll & HH Hihd gl % I
magnification. g 9 3fes srade ww g @
(C) Biology students use to see the (C) Sfta fosm & foemeff wse =i
Slid.es. ‘ . YE ¥ owm ¥ oo B
(D) It is not used for magnification
of an object at far away from the (D) e < feerd ER@ %5 T
observer. & fou a7 swEm § A& e @
029. Surface tension of the liquid is S. [ 029. Tsh gd <l Y8 ddld S B foreft ﬁq
Work done in increasing the radius of W d9 9 Tk HAEgA ED W ED|
soap bubble from R to 3R at given BT R ¥ 3R & # Toam w1 +&
temperature will be Kl
(A) 8mSR? (B) 167SR? (A) 8nSR? (B) 16mSR?
(C) 64nSR2 (D) 18’§SR2 (C) 64nSR2 (D) 18’375132
030. Suppose you drive to Delhi (200 km | 030. 38 i f6 UeR 200 km I fegt
away) at 400 km/hr and return at 200 H 400 km/hr ¥ SJHET R dAT 200
km/hr. What is yours average speed for km/hr ¥ AT gl 3MHh 39 R HI
the entire trip? fEd =T F&AT OB ?
(A) Zero (A) 33
(B) 300 Km/hr (B) 300 Km/hr
(C) Less than 300 Km/hr (C) 300 Km/hr & =¥
(D) More than 300 Km/hr (D) 300 Km/hr & 3iferh
2-BB | [9] [ PTO



A system undergoes a reversible adiabatic
process. The entropy of the system
(A) increases

(B) decreases

(C) remains constant

(D) may increase or may decrease

For the combination of gates shown
here, which of the following truth table
part is not true

C

(A) A=1, B=1, C=1
(B) A=1, B=0, C=1
(C) 4=0, B=1, C=1
(D) 4=0, B=0, C=0

A narrow white light beam fails to
converge at a point after going through a
converging lens. This defect is known as
(A) polarization

(B) spherical aberration

(C) chromatic aberration

(D) diffraction

A small bead of mass M slides on a
smooth wire that is bent in a circle of
radius R. It is released at the top of

031. U% M Us IchAU TgSW UHH °
ToRal g | feer & It (entropy)
(A) et
(B) el
(C) I Tt 7
(D) 9¢ a1 °UC Hhdl B

fo fer U odh gl % wEASH %
v 1 g 9roft 1 siHEm 9m
g T8 7

032.

A

the circular part of the wire (point A B3 2 qqﬁ;c E3| T{ﬁ-rq O %
in the figure) with a negligibly small (g @ fo9g A) & T am qh
velocity. Find the height H where the R AT B 98 A H AE S
bead will reverse direction. gl e A9t fesm uetedn %I
A A
B
P4 1 1
B 'H B, TH
4 4
3R 5R 3R SR
(A) = B) 3 (A) 5 (B) 5~
(C) R (D) 2R (C) R (D) 2R
[10] [ Contd...



035. Two persons A and B start from the same | 035. a 91 B @ FIRSUE g .W
location and walked around a square in il | ﬁm T 3R Il 9
opposite directions with constant speeds. IO I A Bl 9 <kl ST 60m
The square has side 60m. Speeds of A 2 ATA B H IO HEIT: 4m/s 9T
and B are 4m/s and 2m/s respectively. 2;n/s 21 A Ugehl R wa fiRelm 7
When will they meet first time? (A) 10 (B) 20 sec '
(A) 10 sec (B) 20 sec see 4
(C) 30 sec (D) 40 sec (C) 30 sec (D) 40 sec

036. A tire of radius R rolls on a flat surface | 036. T$ R B w1 ufgar guaa "9ag w
with angular velocity o and velocity v SO 9T o ddq7 9T v o %313';{11
as shown in the diagram. If v> @R, in dqsHh @l gl I v>R a1 TER CM
which direction does friction from the e W u¥u forg T e
tire act on the road ?

v P

(A) Towards the left (A) R T

(B) Towards the right (B) gl a%

(C) Towards downwards (C) = Hi T

(D) Towards upwards (D) IV H T

037. Consider one dimensional motion of | 037. Ush m GoIHH EC Y| Teh T
a particle of mass m. It has potential g W foem Aifu | R feafas
energy U = a + bx*> where a and ‘.}\n_\:ﬁU:a_|_bx2%G|g'Taa‘qub
b are positive constants. At origin g TenE SadiE _
(x = 0) it has initial velocity v,. It e 8l kS ]%'3 (x

: / Y Y R w IREYE 9T v, B | 98 WA

performs simple harmonic oscillations. 0

The frequency of the simple harmonic 3‘”°”‘1 Fal & foaht @ %iil

motion depends on o ﬁ’:ﬁ FA B

(A) b alone (A) HaA b T

(B) b and a alone (B) ¥aw b T 4 W

(C) b and m alone (©) FIq b dUT m W

(D) b, a and m alone (D) ¥aA b g T m W

038. The postulate on which the photoelectric | 038. YT i%lga gl i 0 o 59 aﬁqﬂéﬁ
equation is derived is (FeUT) W Feu H T B T8 &

(A) electrons are restricted to orbits of (A) IO Hae I bE § w T
angular momentum n% where n i R e e g h 3
is an integer. d 2n

. . n Th Ok 3|

(B) electrons are associated with wave N . . s
of wavelength X=ﬂ where p is ®) wq;}: a Hﬁ& FR"T # i
momentum. 4 kzp?fﬁ SET p il %

(C) light is emitted only when electrons (©) ¥ % 14 _&ﬁ?ﬂ 2 %sél E
jump between orbits. Teh <hefeh @ Wﬁ > I

(D) light is absorbed in quanta of (D) i
energy E = hv E=hv % ®1 H gl gl
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039. A layer of oil with density 724 kg/m3 | 039. T& I I Wa e v 724 kg/m?
floats on water of density 1000 kg/m3. 21 T8 1000 kg/m? ocd I T & SN
A block floats at the oil-water interface T W B T sdlh dd-9d FAqddg W
with 1/6 of its volume in oil and 5/6 RATER 39 YR R W@ 7 6 38 1/6
of its volume in water, as shown in the AT dd H dYUT 5/6 I Sl H @
figure. What is the density of the block? q Al 1 Odcd FT BAT?
oil
(A) 776 kg/m® (B) 954 kg/m’ (A) 776 ke/m®  (B) 954 keg/m>
(C) 1024 kg/m® (D) 1276 kg/m? (C) 1024 kg/m®> (D) 1276 kg/m?
040. A string fixed at both ends has a standing | 040, us wHt 2 HU ¥ FEaq g qA TH
wave mode for which the distances AU q@r faer § wuma e %
v pent e - e For | e 81 ot g o
mode distances between adjacent nodes ax %%JIT i@éﬁ Iy F m:—grﬁ@
is 16cm. The minimum possible length locm = IR
of the string is (A) 288 cm (B) 72 cm
(A) 288 cm (B) 72 cm (C) 144 cm (D) 204 cm
(C) 144 cm (D) 204 cm
041. A wire loop that encloses an area of 041. Th dR <l <0 1 6 20cm?
2 - ghe] UNEg HAT 8 qAT U Fiald
20cm“ has a resistance of 10Q. The 100 2| = 24T % T
loop is placed in a magnetic field of &g 3 9 o :
24T with its plane perpendicular to the
, ad &9 % read @l e
field .The loop is suddenly removed o 8 % A THUH B
from the field. How much charge flows fom SmaT & d ar (gl\rq)a; foreht ]%@
past a given point in the wire? g foraar ofew yarfgd gdar 87
(A) 4.8x107%C (B) 2.4x107°C (A) 48x10°4C (B) 2.4x1073C
(C) 12x107%C (D) 10°lC (C) 12x10°%C (D) 10°!'C
042. A right isosceles triangle of side a has | 042. T THRITT Ith B‘H\_" rshl
charges ¢,+3¢q and —g¢ arranged on i%lﬁlfl_HI Yl a 2 YT 3@ W IEW
its vertices as shown in the figure . g,+3q T —g 3HHh I W ﬁlﬂ?g
What is the electric potential at point Ifeyd gl AEW +q d¥T —q e
P midway between the line connecting e P g oal 1%@
the +¢g and —g charges ? UK
+q ® :
A -1 ®) -~ L Ay 4 By 34
meoa 2\/57'68061 ( ) TEod ( ) 2\/57'68061
3q 3q 3q 3q
C D) ————
© nE,a (D) 2 e, a © ne.a (D) ﬁnsoa
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043. Shown below is a graph of current | 043. d= fen e U s % ferw g
versus applied voltage for a diode. (current) AT AWMU deedl (voltage)
Approximately what is the resistance % T SR T R 5
of the diode for an applied voltage of 1.5V & fau smie =1 ufaug o
~1.5V? fopeT B ?

Current(A) Current(A)
3 3
2 2
! J ! J
3-2-1 0 1 2 3 Voltage(V) |3-2-1 0 1 2 3 Voltage(V)
(A) Zero (B) 1Q (A) A (B) 1Q
(C) 20 (D) (©) 2Q (D) o

044. A sound wave is generated by the howl | 044. TH 9fey it 99 (e g Ul o
of a wolf in the night. How would we Uh eaf U 3Icq= i ot B (JE
describe the motion of a particular air T aﬂaﬁ * = yaur hl 3ue
molecule near the ground, a mile away 0 ) afed Th " T S
from the wolf, on average (i.e. ignoring e Tk gaT % U A SEd
the random wandering of gas molecules)? w9 o fpg yer gehfa sl ?

(A) It moves up and down in an (A) I8 IW A& TH qoft ®Y H
oscillating fashion g Ham |

(B) It moves away from the wolf at (B) =8 Afsy @ L= $I T &= i
the speed of sound a9 I T |

(C) It moves back and forth (oscillating) (C) Ig Uiey Hil T M 9w ()
towards the wolf nfa wum |

(D) It moves in the horizontal circle. (D) ¥& UH &faw Id 4 wfd war 2Bl

045. Which of the following Material has | 045. T3 o ¥ @@ &0 AfqUushdr dren
lowest resistivity ? e ®
(A) Constantan (B) Silver (A) LT (B) =el
(C) Manganin (D) Copper (C) T (D) T

046. An incompressible non viscous fluid | 046. T IHAET JAIAE ¢d Th oAdTRT
flows steadily through a cylindrical qed U ¥ gdd ®9 9 98 @ 2l 9%
pipe which has radius 2R at point A g <l fem % sHfew fog A W
and radius R at point B farther along 2d H 9T V B ]%@ A T UEY
the flow direction. If the velocity of s 2R 2 A1 g9 Warg Y fesm d
the fluid at point A is V, its velocity g foe B w Uy i B==m R 2
at the point B will be g&ﬁg B W g W o @& BIM?
(A) 2V B)V (A) 2V (B) V
(C) V2 (D) 4V (C) V)2 (D) 4V

047. In a room where the temperature is | 047, Uk HH 1 d9 30°C & THH TH
30°C a body cools from 61°C to 59°C TE &l 61°C ¥ 59°C d& BUEl gH
in 4 minutes. The time taken by the o o g9y 4 fome g0 EL| I
body to cool from 51°C to 49°C will 51°C ¥ 49°C d% 3Vl &84 H o
be about g T g
(A) 4 minutes (B) 6 minutes (A) 4 fime (B) 6 fie
(C) 5 minutes (D) 8 minutes (C) 5 fime (D) 8 fire
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048. A student’s 9.0 V, 7.5W portable radio | 048. TH BE % 9.0 V W 7.5W 6 Th
was left on from 9:00 PM. until 3:00 A 9:00 PM ¥ 3:00 AM. T RIS
A.M. How much charge passed through T|dl g a1 9 grI foham A& arted
the wires? gaAT?
(A) 6000C (B) 12000C (A) 6000C (B) 12000C
(C) 18000C (D) 24000C (C) 18000C (D) 24000C
049. A conducting wheel rim in which there | 049. us ufgu & =T Uffs o ﬁr;r@'{:rr(
are three conducting rods of each of A =T IS TH AN Rl=EIe] a7
length / is rotating with constant angular B ¥ 3= ST T o EE{:, HT
velocity ® in a uniform magnetic field @2 US B H TEE [
B as shown in figure. The induced aRd i o @ 2 F we e
potential difference between its centre Ul favereds Ann
and rim will be
® ® ® ® ® ®
® ® ® ®
® © ® ®
® ® ® ® ® ®
2 B 12
(A) 0 ®) B¢ (A) 0 B) =5
2 3
() Bol (D) 5 Bol (C) Bol (D) 3 Bol
050. An imaginary, closed spherical surface | 050, U® Uk MATRR ¥ Tdg S hl
S of radius R is centered on the origin. s R 2 TS &g qa ]%@ W B
A positive charge +¢q is originally at Ugd Ueh eHTcHeh 3TTaST +q A 1%@ Lery
the origin and electric flux through @ g o1 qAl HAg o qig ﬁgﬁ
the surface is ®p. Three additional FAH Oy ATl I aa Afafs AEw
charges are now added along the x X 318 % 343-%5[ 9 @ 9 W@ 9
. R R .
axis: =3¢ at x=—"7-, + 5¢ at x="> § -3¢ smaw x:_g W, +5¢ &N
and 4q at XZ3TR. The flux through ng gy q9T 4q 3‘_“%5[ T %l 39
S is now Tdg S ¥ Uid woaE g
(A) 3D (B) 4@, (A) 3Dg (B) 4@,
(C) 6 (D) 7y (€) 6Dg (D) 7Py
2-BB | [14] [ Contd...



CHEMISTRY / TE™ATRME

051. Which of the following reacts fastest with | 051. ¥ HCI & @1y = ¥ 9 s daae
conc. HC1 ? ®Y g ATHaT Lt 7
(A) @CHZCHZOH (A) @CHZCHZOH
(B) @CHOH— CH, (B) @CHOH— CH,
(C) (CH;);COH (C) (CH;);COH
(D) CH,=CH-CH,OH (D) CH,=CH-CH,0H
052. A polymer which is commonly used asa | 052. Sgieh Sl A=y wgret shi Ufehm # s
packaging material is 37l B
(A) Polythene (B) Polypropylene (A) dreftfem (B) difersdtef
(C) PVC (D) Bakelite. (C) PVC (D) SehelTge
053. Which pair does not represent the cyclic | 053. <hi=&T IH C,H, 317 43 a1 TshIT s
compound of the molecular formula C,H 1 Yefid T8 a8
(A) (A) /\
(B) (B) %E
©) ©)
o[ ] o]
CN CN
H,O" H,0'
054. +CHMgBr —> P 054. +CHMgBr ——>» P
OCH, OCH,
Product P in the above reaction is: SRE AT § 3cUE P 2
OH—CH — CH, O0=C—CH, OH—CH — CH, O0=C—CH,
(A) (B) (A) (B)
OCH, OCH, OCH, OCH,
CHO COOH CHO COOH
©) @ (D) ©) @ (D) @
OCH, OCH, OCH, OCH,
2-BB | [15] [ PTO



055. The structure of carboxylate ion is best | 055. FETFIAS ITTI hl TLEAT T TIH I3
represented as: frequr 2-
@A) p B) 0 A e ® 0
—c —C — —
\s N \s N\
_ o N _
© ® © p ®
\s N, o 5,
056. Which one of the following is not a unit | 056. == # @ aﬁmﬂ ot 61 3 ‘—l%"’r 77
of energy ? (A) Nm (B) kg. ms2
Eé; {\Jtmt E[Bﬁ lﬁg ms 5 (C) lit-atm (D) kgm?s2
it-atm m?s .
o ¢ | 057. U gaSH A | ATHOf g I WY IEEH
057. When a liquid that is immiscible with 959°C T qT 99 652KPa T
water was steam distilled at 95.2°C at a ? méﬁ a >
total pressure of 99.652KPa. The distillate ERURCIIE gd H Sd Sk AT
contained 1.27gm of the liquid per gram |12 59 M 1.27gm IUEAT | AG A 1
of water. What will be the molar mass of dreqgld 95.2°C 9T 85.140KPa % ad <hl
the liquid if the vapour pressure of water el gogHE &1 g ?
is 85.140KPa at 95. 2°C ? -1
(A) 134.1 gm mol
(A) 134.1 gm mol™! (B) 105.74 gm mol-!
(B) 105.74 gm mol /% § Mot
(C) 99.65 gm mol (C) 99.65 gm mol
(D) 18 gm mol™! (D) 18 gm mol™!
058. What will happen if a cell is placed into | 058. AT BIAT & A Teh ShITITehT ol 0.4% (ZeadH
0.4% (mass/volume) NaCl solution /3T ) NaCl T & @ Sirar 8?2
(A) Cell will swell (A) IR
(B) Cell will shrink (B) qﬁﬁr[am SR
(C) there will be no change in cell volume (C) I I A ?ﬁé giEdd T8 g
(D) Cell will dissolve (D) qﬁﬁ%—[ e B S
. —8
" lition? " Here  log2= 0301 and | 089 2X107 e HOl e o pH
log3 = 0.477 ' ¥ Er? W log2=0301 T
(A) 5.4 (B) 7.7 1%’3 = 0.477
(C) 6.92 (D) 9.5 (A) 5.4 B) 7.7
060. Ifat cubic cell, atom A tall (©) 692 (D)9
. at cubic cell, atom A present all corners
and atom B at the centre of each face. | 060. ﬂﬁ@ﬁ'ﬂaﬁm%mﬁ@lﬁmAW
What will be the molecular formula of IUfEd 3 3T U Heteh o o T B
the compounds, if all the atoms present WW%H&@WW@@H
on one body diagonal are replaced by 343[ aﬁ C %g—gm gfeeenfua
atom C ? aﬂﬁmma‘raﬁﬁ@aﬁrw@wﬁﬂ?
(A) ABC, (B) A;B,C,
O) A.B..C D) AB..C (A) ABC4 (B) A3B,C,4
© 3P12 (D) 12™~73
‘ (C) A3B,C (D) AB,C4
061. Ifa compounq is formed by X, Y and Z 061. a2 us At Xy 3Rz fi -
atoms and Z is present on the corners, & o ﬁ?ﬁﬁ EY
Y is present 1 tetrahedral voids and X 1 ARL W .3 l.l I 7, Y lﬂ
atom in 1 octahedral voids, which of the 5 A ﬁﬁ\?ﬁﬁla'ﬁ 7 3R X T 2
following will be the molecular formula ITCHAR TifFdentati § Iufedrq ‘@f a1 fires
of the compound. Eolc (e El =1 8 9 e g e
(A) XYZ B) X,ZY (A) XYZ (B) X,ZY
(C€) X,Y,Z (D) XYZ, (©) X,Y,Z (D) XYZ,
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062. If an element A is placed in | 062. 3¢ dca A faga vamfes aoft 4 aa B &
electrochemicals series above element B I g Ak dca C ¥ = 3ufedra 7, deal
but below element C, then the order of 1 STTFAIRTOT AT hT ShH AT I 7
oxidation power of elements (A) A>B>C (B) C>B>A
(A) A>B>C(B) €>B>A C) C>A>B (D) B>A>C
(C) C>A>B (D) B>A>C (© (D)
063. What will be the decreasing order of | 063. ¥ SHTeieHEAl % TR 1 Tedl g3
stability of follgwing carbocations ? %Y T
CH, &n, ¢n, En
* +
N(CH,), NO, N(CH,), NO,
@ @ ©)] ) ) ©)]
HC=C HC=C
@ (©)) @ 5)
(A) 3>5>4>1>2 (A) 3>5>4>1>2
(B) 1>2>3>5>4 (B) 1>2>3>5>4
(C) 5>4>3>2>1 (C) 5>4>3>2>1
(D) 1>2>3>4>5 (D) 1>2>3>4>5
o 0
064. CHMgBr H,O/H Q 064. 3 CH.MgBr ) HOM' 0
In above reaction P and Q are Iqed ffeaT § P qen Q H
A
(A) @%}ICH’ @%}: CH, (A) ©/CL\CHJ @%}I CH,
®) Q
OH OMgBr OMgBr
(B) (B)
cH, CH: ch, 4
©E @ © @+ @(
OMgBr OMgBr OH
®) (0))
éMgBr CH, OMgBr CH
 Cyae ® oo O
CH3 3 OH CH‘ 3 OH
® @ ® @
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065. The one electron species having | 065. U ‘:{@"q?ﬁ:[ wiisfie foEeh TR el
ionization energy of 54.4 eVs 544 TAFRIT Al B -
(A) Be'? (B) Be'? (A) Be'? (B) Be'?
(C) He" (D) H (C) He" (D) H

066. Which of the following set of quantum | 066. e & 9 8 @@ gEaeht @
numbers represents the highest energy HHg Y] FI =AW HoAl w U
of an atom ? A @ .

(A) n=3.0=0m=ds=+5 (B) n=31=0m=ds=+73

_ 3= .

(B) n=3,l=1,m=1,s=+% B) n=3,I=1m=1ls=+5

_ 2= SR

(© n=31=2m=1s=+3 (€) n=31=2m=1ls=+7

—4 = _ _1

(D) n=4,0=0m=05=—"> @) n=4I=0m=0s="7

067. In OF,, oxygen has hzybridization of 067. OF, o ofigdis &1 ghl @

(A) sp (B) sp A B) sp?

(C) sp? (D) None of the options (A) Sp3 (B) sp ) .
(C) sp (D) ¥ & w1 foeheq &

068. Amongst NO;, fst?U CO; . | 068. NO;, AsO’ . CO>, ClO;, SO> 3R

ClO;, SO; and BO? the non-planar BO? T o ooqde «fefie 2
speetes are. . (A) CO; ,SO; @1 BO;
(A) CO; , 805 and BO; (B) AsOl, CO> a1 SO>
(B) AsO; , CO; and SO; . No*S (’:oz*aasm BO3}
(C) NO,, CO: and BO; © S T
(D) SO; , ClO; and BO; (D) SO; , CIO; a1 BO;

069. The Lewis acidity of BF; is less than | gg9, BF, $ —gfg-g AT BCl, g %9 @
BCl; even though fluorine is more Fafs TotE &l ﬁ@ﬁ HUrET ST
electronegative than chlorine. It is due to ¥ s & | THEl s 2 -
(A) stronger 2p(B)-2p (F) o - bonc.iing (A) S 2p(B)-2p (F) & - 57
(B) stronger 2p(B)—2p(F)n-bond1ng (B) W&l 2p(B)-2p(F) 1 - 74
(C) stronger 1p(B)-3p (Cl) c - bonding ©) 1p(B)-3p (Cl) & - T
(D) stronger 2p(B)-3p(Cl) ® - bonding p p

(D) 9 2p(B)-3p(Ch) mt - <=4
070. The IUPAC name of the compound is: 070.  AfE @ ﬂﬁ{ﬁQFﬁ‘l’l’q 3
CONH, ' CONH
Vs CHO ’ CHO
(A) 2-methyl-6-oxohex-3-enamide (A) 2-HfI-6 SRR -3 —3TTES
(B) 6-keto-2-methyl hexamide (B) 6-hid1-2-Afrel ReamaTES
(C) 2-carbamoylhexanal ©) 2 eI
(D) 2-carbamoylhex-3-enal (D) 2-hEHIAH -3 -7
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071. The TUPAC name of 071. = = sy fud. Tm 2
F F
I Cl is 1 Cl is
Br Br
(A) 1-Bromo-2-chloro-3-fluoro-6-iodo (A) 1-SHT-2 ~FAR -3 ~TFART - 6 - ATIST
benzene EESic)
(B) 2-Bromo-1-chloro-5-fluoro-3-iodo (B) 2-9MHI-1 - -5 -FARI-3 -3IE]
benzene
(C) 4-Bromo-2-chloro-5-iodo-1-fluoro ©) 4 -1 -2 -FA - 5-3TFE! - | -FA
benzene Eesic]
(D) 2-carbamoylhex-3-enal (D) 2-FEHRITEH ~3-37cd
072. Which of the following compounds | 072. 7 et o @ feum w9 @ wW
contain at least one secondary alcohol? TH TG Teehied @7
%OH OH ZCH3 OH /01}%\OH OH %cm oH
O] (ii) ® (i)
H H
ol H o ol H o
(iif) (iv) (iif) (iv)
OH OH
) (vi) ) (vi)
(A) (i), (ii), (iv), (vi) (A) (i), (i), (iv), (vi)
(B) (). (i, (iid) (B) (), (i), iii)
(©) (). (i, (iii). (v) (©) (i), (i), (i), (v)
(D) (i), (iii), (v) (D) (D), (ii1), (v)
073. Transition state 2 (T.S.2) is structurally | 073. TS €Y H HhUOT LA 2 (T.8.2)
most likely as: srfereh e @
TS2 oo TS2 s
E E
Inter- T.S.1 Inter-
mediate2 mediate2
Intermediatel Intermediatel
reactant Prcduct reactant Product
(A) intermediate 1 (A) Aegad 1 (intermediate 1)
(B) transition state 3(T.S.3) (B) GshHUT 3a&AT 3 (T.S.3)
(C) intermediate 2 (C) "egadt 2 (intermediate 2)
(D) product (D) 391q (product)
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074. The decreasing order of electron affinity | 074. 3’@?@? AT (agaT) 1 "dl g
is: % 2-
(A) F>Cl>Br>1 (A) F>Cl>Br>1
(B) CI1>F>Br>1 (B) CI1>F>Br>1I
(C) I>Br>Cl>F (C) 1>Br>CI>F
(D) Br>Cl>F>1 (D) Br>Cl>F>1
075. The isomerism exhibited by following | 075. 3Feifaf@d AR [Co(NH;)][Cr(CN)]
compounds [Co(NH;)4][Cr(CN)4] and Al [Cr(NH;)][Cr(CN)¢] a0 SHTEHAT
[Cr(NH;)6[[Cr(CN)¢] is B R -
(A) Linkage isomerism (A) a:*a:ﬁwmm
(B) Coordination isomerism (B) SUHEHASH HTEdT
(C) Ionization isomerization (C) 3AIAA GHISHAT
(D) Polymerisation isomerism (D) agazﬁwamaam
076.  For the reaction 076. 3MfFAT 250, + O, (excess) — 250, &
280, + O, (excess) — 2805 the order of fw 0, % &= (wme ) o sl i
reaction with respect to O, is FIe 2
(A) zero (B) one (A) (B) U
(C) two (D) three ©) @ (D) &
077. Friedel — Craft reaction is not related | 077. %-W situfspan Ffafea # &
with: Freiferd T 2
(A) Sulphonation (B) Nitration (A) eI (B) TSIl
(C) Acylation (D) Reduction (C) tfaferrtr (D) 319=RM
Cl CH, Cl CH,
078. Compound /\c =C has the | 078. <ifies /\C =C\/ o fou 3uet 3
H C,H; H C.H,
following prefix
(A) E (B) Z (A) E B) Z
(C) trans (D) Anti (C) 2™ (D) Tt
079. iﬁiesrzlsrlglc)gfn(é%?é has a linear structure. | (79, 319 C,0, &1 g HEs 2 | 39 Aiftes §
(A) 4 o and 4 1 bonds (A) 4o T 4m G4
(B) 3 o and 2 n bonds (B) 3 o TU1 2 1 AT
(C) 2 o and 3 n bonds (C) 2 o AU 3 1 &Y
(D) 3 o and 4 n bonds (D) 3 1 4 1 A4
080. The structure of XeF, and NH; | (80. XeF, qe NH3">ﬁ GG 8 ShAST:
respectively are A) dfRq TqHAE
(A) bent, tetrahedral &) ’
: ) (B) =, fudfufea
(B) linear, pyramidal .
(C) linear, see-saw © ?@E, gpedl (HT M)
(D) bent, see-saw (D) sfehd Epeit (Fft 4T)
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081. The number of lone pair(s) of electrons | 081. [BrF,] ,XeFs @em_[SbCl[~ & ™
on the central atom in [BrF,] ,XeF; and T W ﬂ'“:ﬁ & 9T 2
[SbCls [ are, respectively. U
(A) 20andl  (B) 1,0and0 (A) 2,091 (B) 1,040
(C) 2,1and1 (D) 2,1 and0 (©) 2,1aaml (D) 2,190

082. Which one is not the property of crystalline | 082. =€ Tk fsheeetar Sl o1 o1 761 8 7
soild ? ' (A) THCIH
(A) isotropic (B) e T fomg
(B) Sharp melting point (©) fifea g fafia safirda
(C) A definite and regular geometry D o
(D) High intermolecular forces (D) = RN

083. For a non-volatile solute: 083. TUsh AATSIRITA IENREC)

(A) vapour pressure of solute is zero INREEREICICHE] N

(B) vapour pressure of solvent is zero (B) ERIPEXCICIEHE S B

(C) vapour pressure of solution is more (C) |(E|q|q.1 CACINEHE! |(\c|Qr||€,|eh é; CINHE]
than vapour pressure of solvent 3ok grar @

(D) all of the options (D) fed u wsft faeheq @&l B

084. Micelles are: 084. firoer 2
(A) gel . (A) I
(B) associated colloids (B) & EARIES)

(C) adsorbed catalyst (€) TR 3o
(D) 1ideal solution (D) ATest ferH

085. Milk is an emulsion in which: 085. gY U U @ e _

(A) Milk fat is dispersed in water (A) <8 JdT1 bl ST i &d 8
(B) asolid is dispersed in water (B) U 3 1 S H IRETT &l &
(C) a gas is dispersed in water ©) = 19 &1 A ﬁ gftequr TEar |
(D) lactose is dispersed in water (D) TFIE BT S § gigqor &l %

086. If enthalpies of formation for C,H,(g), | 086. =g C,H,(g), CQ2(g) 3R H,O0()) &+ forw
CO,(g) and H,O(/) at 25° C and 1 atm 25° C Ush a‘@qg?ﬁ'q o W o=
pressure be 52, —394 and —286 kJ mol ™! Il HE: 52, —394 3T 286 fehal
respectivel}f, enthalpy of combustion of Bl ol g, C,H, (2) F T hI TAH
C,H, (g) will be afi-

(A) +141.2kI mol! (B) +1412 kJ mol™! (A) +1412 kI mol™! (B) +1412 kJ mol-!
(C) —141.2kJ mol™! (D) 1412 kJ mol! (C) -1412kImol”! (D) —1412 kJ mol™!
087. Which graph shows zero activation | 087. 2Affsham (reaction) % fow =i@T UTH
energy for reaction ? N Gfshaor o1l evtar 2 ?
Wl /- (B)l‘\ @ 1 ya (B)l\\
E E
Reaction —> Reaction —> Reaction —> Reaction —>
! by | ol oy |
(C)E\ ()E‘\ ()E\ ()E‘\
Reaction —» Reaction —> Reaction —» Reaction —>
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088. Which of the following is correct for a | 088. YoH whife il 1fifspan o fou fr § @
first order reaction ? ST EE B 7
1
(A) tpoxa (B) fp« a (A) tipxa B) #), « lg
©) tp« a (D) #) « a ©C) 1) « a D) #) « a
089. 8.50gm of NH; is present in 250 ml [ 089, 250 ml® 8.50 UTH THAT IUEYIT 2 |
volume. Its active mass is: Y] Hfshd ZoUHH 2 -
(A) 1.0 ML‘i (B) 0.5 ML‘i (A) LOML!  (B) 0.5ML"!
© LSML™ (D) 2.0ML” (©) 15ML (D) 20ML"!
090. The equilibrium constants of the reaction | g9¢.  sfrfpany
| .
$0,(g) + 5 0,(g) = SOs(2) S01(9) + 5 01(g) = SO5(g) 3
and 2soz<g>+ 0,(g) = 2S0;(g)are K, 2soz(g>+ 0,(g) = 250;(g) * TEmfHH
and K, respectively. The relationship wﬁwm K, QE[K 2, K, 3ﬁIK
between K and K, will be: T Gre AT ?
(A) K12 =K, (B) K;=K, (A) K,=K, (B) K;=K,
© K=K, (D) K,=vK, € K=K, (D K,=/K
091. COOH COOH 091. COOH COOH
H——OH OH——H H——OH OH——H
OH——H H——O0OH OH——H H——OH
CH, CH, CH, CH,
pair is known as I HECTdl 2
(A) erythro stereoisomers (A) uftgn Bifom wueef
(B) threo stereoisomers (B) ]‘\graﬁ fan garesh
(C) structure isomers (C) AT gHTEE
(D) geometrical isomers (D) safufd g
092. Which defect in any crystal lowers its 092. TRt freeet § e aﬁ, T T B
density? ) U pidl 2
(A) F centre (B) Frenkel !
(C) Schottky (D) Interstitial (A) F 7 (B) Sheel
(C) sMesht (D) 3TaTEhTSt
093. The half. life period of a radio active 093. T Yt afiea aea S a1 30f9 2
element is 30 days, after 90 days the
following quantity will be left 90 fort g @bt fet o 2w Tl -
L 1 1 1
) g ® A) ¢ ® L
1 1 1 1
© 2 ) 6 © 3 D) 4
094. What is the number of atoms in the unit | 094, <h/ higd G fshEeat 1 Teheh hIfBhT |
cell of body centered cubic crystal ? t{'{qugaﬁ H AT FT A B ?
(A) 4 (B) 2 (A) 4 (B) 2
©) 1 (D) 3 ©) 1 (D) 3
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095. When Grignard reagent reacts with 095. & f=m rfieRdes e o rfufsan
ketone it yields AT 2 A1 ITH BT | -
(A) 1°alcohol (B) 2°alcohol (A) 1°Ueshigd  (B) 2° Teehlgd
(C) 3%alcohol (D) Ethanol (C) 3°TewEa (D) WA
096. Formula of Bleaching powder is: 096. o= 9IS &l L3El 2
(A) CCl,CHO (B) CaOCl, (A) CCLL,CHO (B) CaOCl,
(C) Ca(OH), (D) CHCI, (C) Ca(OH), (D) CHCly
097. The geometry around the central atom in | 097. CIF, T gl WY & IR IR SATHLT
CIF; is @ -
(A) square planar (A) =1 gHae
(B) square pyramidal (B) =t Ty
(C) octahedral (C) ITHAH
(D) trigonal bipyramidal (D) Trepivfia fg i
098. Among the following, the equilibrium | 098. @& s@M W =1 & § e gr= YTl
which is NOT affected by an increase in T81 BT 8
pressure is (A) 250;(g) = 250,(g) + O(2)
(A) 250;(g) = 250,(g) + Os(2) B) H(g)+ L,(s) = 2HI(
(B) H(g)+ Ly(s) = 2HI(g) e y
(C) C(s)+ H,0(g) = CO(g) + Hy(g) (©) C(s) + H,0(g) = CO(g) + Ha(g)
(D) 3Fe(s)+ 4H,0(g) = Fe;0,(s) + 4H,(g) (D) 3Fe(s)+ 4H,0(g) = Fe;0,(s) + 4H,(g)
099. In the manufacture of ammonia by | 099. TR UshH o gl STHIRT & famior |
Haber’s process N,(g) + 3H,(g) = 2NH;(g) + 92.3kJ
N, (g) + 3H,(g) = 2NH;(g) + 92.3kJ = o & st 3d dfdga 8
Which of the following conditions is (A) dqT9 s
unfavourable ? (B) T I e
(A) Increasing the temperature (C) qT9 & T
(B) Increasing the pressure (D) smiter % fmw ¥ @y wEe
(C) Reducing the temperature e
(D) Removing ammonia as it is formed
100. Which of the following compounds can | 100. et ® 4 i Aifireh sEfidt qumeRrd
exhibit both geometrical isomerism and qT Widfersl 99T (enantiomerism) 31
enantiomerism ? H e g ?
(A) CH;— CH= CH- CH; (A) CH;— CH= CH— CH;
(B) T (B) T
CH,CH,—CH—C=—=CH—CH, CH,CH,—CH—C=—=CH—CH,
" "
C
© CH,CH,—— C=——=CH —COOH © CH,CH,—— C=—=CH —COOH
(D) CH,— CHOH — COOH (D) CH; — CHOH — COOH
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BIOLOGY / Sfafasm

101. The unit of evolution is 101. fo®m™@ (evolution) I HE B
(A) Population (A) SmEE  (Sfragen)
(B) Species (B) wifd
(C) Social groups (C) | &
(D) Individual (D) =tk (i)
102. Which of the following forms a | 102. 7 4 @ oE snddier dur wferer
connecting link between Annelida and & o 6 3HE R
Arthopoda?
(A) Peripatus  (B) Chetopterus (A) UftueE (B) hicue@
(C) Limulus (D) Boneli (C) fergera (D) et
103. Match the two lists 103. gﬁﬁ!ﬁ HT
List I List 11 w1 W I
(a) African Ape man (1) Sinanthropus (a) TSI T (1)1%q:rgﬁm=r
(b) Java Ape man (2) Pithecanthropus CLIER)
(c) Pecking man  (3) Homo (®) W T 2 fyepera
(d) Neandarthal (4) Australopithecus 2(01; ﬁﬁﬁ;@g S‘; '@Tﬁr E< N -
(A) a—1, b—3, c—4, d->2 (A) assl. b3, cood, des2
(B) a—4, b—>3, c—1, d=2 (B) a4, b3, csl, ds2
(C) a—1, b2, c—4, d—=3 (C) a1, b2, c—d, d—s3
(D) a—>4, bez, C—)l, d—3 (D) a%4_’ b%Z, C—)l, d—3
104.  Which blood Group is universal donor | 104, @MHET T Y TGl @
(A) OF (B) O (A) O (B) O
(C) AB" (D) AB™ (C) AB" (D) AB™
105. Palmau (Betla) National Park is situated | 105. YeHTS (Sdell) UHT 3T el O 2
in: (A) s (B) i wrrer
(A) Orissa (B) West Bengal (C) FETE D) fram
(C) Jharkhand (D) Bihar
106. Hemichordates have close affinities with | 106. gHisrsar (318 TeEht ) 61 e
which of the following phylum: syar 7 4 @ fem ww @ R
(A) Annelida (A) TAfA=T
(B) Arthopoda (B) 3metare
(C) Echinodermata (©) TehlsIenel
(D) Mollusca (D) TIeTEhT
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107. Dicondylic skull is the characteristic | 107. %@m e 9 4 9 w9 9
feature of T3l 1 AqT 77
(A) Amphibia and Mammalia (A) Tfthsfian (S Toet=r) ud Hafern
(B) Aves and Mammalia (B) TS w4 Tafern
(C) Amphibia and Reptilia (C) uftwsfin wa efern (wfed) =
(D) Reptilia and Aves (D) {eferan wa i (weft) =
108. Echolocation is exhibited by 108. Sl (Sfdeaffeufd) wefsta o 2
(A) Man (B) Bats (A) "9 (B) THTGS
(C) Cats (D) Owl (C) fagh (D) 3g
109. If in a child secretion from the anterior | 109. 3T ST & WRE UMY & uerelt o
lobe of pituitary gland is more than I I e LU LG
normal, the child will be suffering from ferem @’Tf
(A) Night Blindness (A) T 5T !
(B) dftusred # <d
(B) Maturing late ©) afs asht F ?{% ¥ F
(C) Gigantic due to speedy growth ffaerrEar &1
(D) Dull mentally and weak (D) AHfG® faggar 9 wual
110. Blood is supplied to the walls of | 110. aifet= 1 fani T qﬁ'f-w EIcI
vessels by (A) PR FT (& STe) g
(A) Choroid plexus (B) W@ IS g
(B) Pons varoli (C) FT ;S ez
(C) Crura cerebri (D) @ JEE
(D) Vasa vasorum
111. On the basis of development odontoid | 111.  Terhr™ % MUR W il hl A
process of axis of mammals is: H SRS THA B
(A) Ribs of axis vertebrae (A) 318 HEeeh! HI HA
(B) Centrum of atlas (B) HgH TCHAH hIATh! oh
(C) Neural spine of atlas (C) T T3 A" <kl
(D) Centrum of axis (D) HeW & FHITH I
112. Gametocytes of malarial parasites are | 112. AT wEiet W THieEEe (TS
formed in SHF) FA T &
(A) Stomach of female Anopheles (A) HIaT TAIhfS] o WA H
(B) Stomach of male anopheles (B) W TAhf & AMRE H
(C) Blood of man (C) oFa & Th §
(D) Salivary glands of anopheles (D) TAGfS i @R U |
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113. Trypanosoma is 113, fouArEm 2
(A) Non-pathogenic (A) STATSHh
(B) Monogenetic (B) TR
(C) Digenetic ©) fedrfra
(D) Facultative (D) et
114. Which is the correct sequence of the | 114, @;ﬁ}:ﬁﬁﬁm T I 90 & 99 ol
path of water current flowing through e ST H
leucosolenia . .
(A) Spongocoel—osculum—ostium (A) W%W%m
(B) Ostium—spongocoel—Osculum (B) mé@ﬁﬁwqm
(C) Osculum—sspongocoel—ostium (C) AT TSI SAfeeH
(D) Osculum—ostium—spongocoel (D) W%mﬁm
115.  Which if the following animal causes | 115. = § ¥ =@ & = T wEAReEE
filariasis disease in man? (FrEafEn) T 39T w8
(g) ;n‘zchlﬁls tr1ch1r.1s1 | (A) W '{Iéﬁb‘ﬁ'{:[
nterobius vermicularis SR e
EC; Dracunculus mediensis ®) 5 o
(D) Wucheria bancrofti © .
(D) e kTl
116.  Which of the following is a correct | 116. e o @ AT EIS R
match? . v
(A) Pila — Pelecypoda ) ‘aﬁmﬁ ) -
(B) Spider — Arachnida (B) Hehel — TSl
(C) Cockroach — Crustacea (©) foerg - swefem
(D) Leech — Polychaeta (D) S - difcrsbrer
117. One of the following is not correctly | 117. = # ¥ ws ﬁ'ﬁlﬁflﬁ R
matched —‘ | (A) TR R
(A) Glochidium — Mollusca )
(B) Planula — Coelenterata (B) W - it
(C) Trochophore — Anelida © THIBR-  TAATET
(D) Tornaria — Echinodermata (D) THRET-  gehIgAISHeT
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118.  Periplaneta americana differs from Blatta | 118. a1 @8 ¥ UYhtcHer AR
orientalis in having: fra @ &% Hrw = g ?
(A) No wings (A) v@l i Fufeafd & R
(B) Developed wings (B) Tl ww
(C) Only first pair of wings © had gl Sel % UE
(D) Only second pair of wings (D) et adl €k TE
119. Harmful insect for the leaves and stem | 119, 7= & gfqai wad a4 & fow gfdenes
of sugarcane is - $le gar 2
(A) Pyrilla (B) Agrotis (A) HTgien (B) wWid®
(C) Leptocorisa (D) Idiocercus (C) A EEI (D) TS
120. If a live earthworm is pricked with a | 120. 3fg foeft Sfifaq shgu & ITht MR
needle on its outer surface without I b fomm efa qg%lTQ SUEdE W
damaging its gut, the fluid that comes g AR I @ Th WA gl e
out is :- 98 Bl @
(A) Excretory fluid (B) Mucous (A) 3&ST /A (B) ST
(C) Haemolymph (D) Coelomic fluid () Frfers (D) e (5%20 T
121.  Similarity between housefly and mosquito | 121. EI%FLIW@% qT T 1 TUF &0 B
is that both have (A) 3 e q;crf faerigd g
(A) Two pairs of fully developed wings o~ . .
. (B) gFi § wf~im g@ UM
(B) Sponging Mouthparts .
(C) Long Antennae (©) Eﬁﬁ i
(D) Larval forms (D) gl # ferves (wiral) S
122.  Which all of the following are vector | 122. = # & &9 =¥t UM a8 (vector)
hosts? RILE S
(A) Sand fly, Tse tse fly, House fly, Culex (A) He HaEll, € Hi werel, we] Herdl,
(B) Tse tse fly, Trypansoma, Sand fly, W’ )
Leishmania (B) H # Heredl, iita:ilﬂ'lql, s e,
(C) House fly, Plasmodium, Monocystis, SRILUEEL
Culex (C) 5“51 ll@(|7 Al “l\gl |7 l |||E|Eé El,
D) Bed bug, Sil fish, Ratflea, S
(D) Be ug, Silver fis atflea D) | A e, 1
Entamoeba
T AT
123. The drug used in Ascariasis is 123. UEhienfaE U fea ofwfy w1 3wm
AP e e
(B) Oil o enopodium (B) EJCIRIES (Chenopodium) <kl aa
(C) Chloroquinone (©) FARIFTTH
(D) Tarcamphor (D) AR HIHT
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124. Tonoplast is : 124. mz
(A) A feature of all cells. (A) aut HINERIST HT Th AH 7
(B) Found in prokaryotic cells only. (B) AT TiehiAleh TRl § il &l
(C) Found in plant cells only. ©) hacT UIEY IR § URlt S gl
(D) Found in animal cells only. (D) had S ISR H URlt S 2
125. The cell wall of both bacteria and | 125 e s ’Elé EECUSUNCEINGS
cyanobacteria contains: wifeeer fufd & g@r @ -
(A) Lipid (B) Pectin A) fafus (B) Uf#eq
(C) Protein (D) Muramic acid (C) IrAC] (D) Iﬂ'ﬂ'ﬁq’q; A
126. The stage of meiosis in which pairing | 126. sepfifaasy &1 @ srawen fmw
Zefl‘lll;(()il.nologous chromosomes starts, is e W H g TE BT 2
(A) Leptotene (B) Zygotene (A) (B)
(C) Diplotene (D) Pachytene ©) et (D) YehidH
127. A duplicated chromosome has how | 127. U fagffrra ToTgA 4 forad sMfes B
many chromatids ? 37
(A) One (B) Two (A) Th (B) a
(C) Three (D) Four (C) @ (D) =R
128. The Ecological pyramid that is always | 128. wiifeufies foufie S gosm Feaim
upright: (dterr) g e
(A) Pyramid of Energy (A) ot & e
(B) Pyramid of Biomass (B) smE & fuufis
(C) Pyramid of Number (C) = & fyufie
(D) None of the options (D) 0 O His ooy @
129. The main components of photochemical | 129. YehE TEH *’ga =+ qeI ¥l £
smog are: (A) ST 9T
(A) Water Vapour B .
(B) Sulphur Dioxide (B) Hthl STeaAIaizs
(C) Oxides of Nitrogen ©) |I$§13|I RRIEEIEES
(D) All options are correct (D) Tt fohen Tt 2
130. Which of the following chromosomes | 130. fi=faif@d @ @ = @ TR 37ferepTer
a.re responble for most of the sex- fom-geam @evi % fU IaEr 27
linked traits?
(A) 13 (B) Y (A) 13 B) Y
(C) 15 (D) X (C) 15 (D) X
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131. The taxonomic unit ‘Phylum’ in the | 131. S+g3fi o ikl H I aTeRLTl
classification of animals is equivalent to IHhlE G9 UEdl & oifieRtor § foRE
which hierarchical level in classification Joflag T F U B
of plants: (A) ot (B) T
(A) Class (B) Order c D
(C) Division (D) Family © D) 3

132. The anthesis is a phenomenon, which | 132. Y9 Ush gfshem B, S wEfUd 7 -
refers to: (A) WY % fasE @

(A) Development of anthers (B) afdsm wuEs @

(B) Stigma receptors (C) I FRIF 5 Gy 9
(C) Opening of flower bud D) 5N o @

(D) Reproduction in plants

133. The fruit of coconut is: 133. @A w1 %A &

(A) Berry (B) Drupe (A) =& (B) g9

134. Which tissue gives rise to secondary | 134. &1 S fgdiEeh g&; T ol 27
growth? (A) o fav=aias
(A) Apical meristem (B) Tqedfh e
(B) Adventitious root (©) FaE Pl ‘

(C) Axillary bud et
(D) Vascular cambium (D) o

135. Azotobacter and Beijerinckia are the | 135. QT‘ﬁaaTRT R ésﬁﬁqﬁw R4 %
examples of: (A) TEsielt Argeem feorfientor Sfiamy <
(A) Symbiotic nitrogen-fixing bacteria (B) THaSa ege feerdertor ey ¥
(B) Asymbiotic nitrogen-fixing bacteria (C) THI-Es Sy =
©) Pl‘lotosyntheti‘c bacteria‘ D) T et &

(D) Disease causing bacteria
136. Blue-green alga that causes red water- | 136. ii-gNd aTad S ATd TA-ToATSH T
blooms is: HRU B:
(A) Anabaena (A) ATl
(B) Gloeocapsa (B) TATE3TRTHT
(C) Trichodesmium (C) TTShrsiarm
(D) Nostoc (D) Teeieh
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137. Edible fungus is: 137. W Hd% @
(A) Penicillium (B) Agaricus (A) ufifdfersm  (B) wiitsd
(C) Aspergillus (D) Pythium (C) wafer®m (D) Uigler™
138. Vegetative reproduction in Marchantia | 138. AhiET T i S94 f & "esm
occurs through following: g Bl R
(A) Apospory (B) Gemma Cup (A) VIEIRY (B) THT &Y
(C) Budding (D) Hormogonia (C) Yo (D) KLIERI]
139. Gametophyte of Pteridophyte is called: | 139. <IREI®Ee H IWehllgg Heam &
(A) Prothallus  (B) Protocorm (A) W¥eE  (B) W
(C) Thallus (D) Gametangia (C) o\ (D) R
140. Largest sperms in the plant world are | 140. YIqU SId U g &g I[sh1Y] 9Tq A
found in: (A) ST (B) @rIsh"
(A) Banyan (B) Cycas (C) o (D) UTETH
(C) Thuja (D) Pinus
141. In a cymose type of inflorescence, the 141. & a F 3 § i e o"
growth of the main axis terminates in a: Eﬁ? . el %q?ﬁ .
(A) Branch  (B) Leaf (A) et = (B) .
(C) Bract (D) Flower (C) ¥ H (D) T H
142. Which can function as carrier in active 142, @f |. T ST ﬁ S1aEs %
ion absorption? w1 A FH R FRA BT )
(A) Ferredoxin (B) Plastoquinone (A) et (B) wemeeifara
(C) Cytochrome (D) Lecithin (©) SIEEEL (D) i
143. Insectivorous plants grow in: 143, ¥l IeT I WM 7 -
(A) Nitrogen rich soil (A) &M RARCE
(B) Nitrogen deficient soil (B) TTEeSH = Tl
(C) Potassium deficient soil (C) WiRmm = 7a
(D) Carbohydrate rich soil (D) SIETEEE I Tal
144. The first CO, acceptor in C4 plants is: | 144. C4 Uedl U gaE ggel CO, Uigh i
(A) PGA (B) PEP (A) PGA (B) PEP
(C) RuBP (D) OAA (C) RuBP (D) OAA
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145. Reaction centre of Photo system-I in | 145. 3Ra qredi § auieh aeA-1 1 SATIIshaT
green plants is: %y @
(A) P680 (B) P690 (A) P680 (B) P690
(C) P700 (D) P780 (C) P700 (D) P780
146. The conversion of Pyruvate into Acetyl | 146. UgEd % THEA Co-A H EU@HU
Co-A is called: H HE AT R
(A) Glycolysis (A) TATShITSEH
(B) Fermentation (B) fopvam
(C) Oxidative decarboxylation (C) Aadisfea repaifaaay
(D) PB-Oxidation (D) B-3TTereTehtoT
147. Process of water exudation through | 147. Sery o wieww g gl fEma f gfsea
hydathodes is known as: FHEAT 7
(A) Guttation  (B) Transpiration (A) ﬁ@%‘?ﬂa (B) ATTCES
(C) Evaporation (D) Bleeding (C) afiRml (D) WHEE
148. In hyponasty, the bud will remain 148. Aggigadd #, well @il
(A) Open (B) Close (A) et (B) s
(C) Semi-Open (D) Wilt (C) 3Tg et (D) &I
149. Miller synthesized amino acids from 149. firerm 3 Sl w1 wewWw feRanm
(A) CH, , NH; ,H,0, H, (A) CH, , NH; ,H,0, H, &
(B) N,0,CH,,H,,0, (B) N,0,CH,,H,,0, ¥
(C) H,,0,,80,,N,0 (C) H,,0,,S0,,N,0 ¥
(D) CH,,0,,NH;, H,0 (D) CH,,0,,NH;,H,0 &
150. Darwin’s theory does not include 150. sifdq & fagear § aftyfaa 48 2
(A) Survival of fittest (A) AMAqH Sl IS e
(B) Struggle for existence (B) fcdea & fou @ed
(C) Natural selection ©) Wﬁ% ERE
(D) Evolution through inheritance (D) ETQ'I'EEFF[ g fawm
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